boe&E NSO, AR 1)

4 H TE
6994.8 x 0.0001 = 3301.7 x 0.01 =
6919.3 x 0.01 = 3751.4 x 0.001 =
8807.5 x 0.01 = 9938.3 x 0.1 =
2867.4 < 0.0001 = 8923.7 x 0.1 =
7088.9 x 0.001 = 1867 x 0.01 =
8621.8 0.1 = 9728.5 x 0.0001 =
4020.3 < 0.001 = 3001.6 x 0.01 =
3861.4 0.1 = 9320.7 x 0.001 =
9719.7 x 0.01 = 1825.8 x 0.0001 =
2733.3 x 0.0001 = 4693.4 x 0.0001 =
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b3 @ NS0, 1B )

HA: H34: T
6994.8 x 0.0001 = 0.69948 3301.7 x0.01 = 33.017
6919.3 x0.01 = 69.193 3751.4 x0.001 = 3.7514
8807.5 x 0.01 = 88.075 9938.3 x 0.1 = 993.83
2867.4 x 0.0001 = 0.28674 8923.7 x 0.1 = 892.37
7088.9 x 0.001 = 7.0889 1867 x 0.01 = 18.67
8621.8 x 0.1 = 862.18 9728.5 x 0.0001 = 0.97285
4020.3 x 0.001 = 4.0203 3001.6 x 0.01 = 30.016
3861.4 x 0.1 = 386.14 9320.7 x 0.001 = 9.3207
9719.7 x0.01 = 97.197 1825.8 x 0.0001 = 0.18258
2733.3 x0.0001 = 0.27333 4693.4 x 0.0001 = 0.46934
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